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Set 3 Answers
Set 4 Answers
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Set 1. Write a polynomial for the shaded areq, then factor the polynomial.
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iengfh of a side of the square. The area is given.
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Set 2. Find the

Set 4. Factor the expression. .
Set 5. Factor the expression.
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Set 3. Factor the expressio‘n.
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" 'Factoring Special Cases: Differences of Two Squares and Perfecf-S‘c;.uare Trinomials

_ Factoring Polynomials: =
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Express each product as a binomial.

9. (x—=T(x+7)

11. (2¢c — 5)2c + 5)

Factor.

13. 169 — 442

15. x° — 196

- Express each square as a trinomial.

17. (2a — b)?

19. 3k = 2m)>

10.

12.

18.

20.

. 625a* — 1442

2 2
S 1210 =y

(3x — 4)(3x + 4)

of Squares;Squares of

(@* + 26%)(a* - 2b%)

(v + 5)

(3a + 3b)2

Factor each trinomial as the square of a binomial. If it is not possible, write ‘‘not factorable.”

23. 22— 8+ 16

25. X2 + 5¢ + 25

.24.

26. 9a% — 12ab + 4b*

4a’ — dab + b*




